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Cuadro 11 (continuación 4)/Table 11 (continued 4)
Guatemala: tablas abreviadas de mortalidada

 Guatemala: abridged life tables a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.070 0.067  100 000  6 664  94 915 0.926 b 5 924 490 59.2
1 4 0.006 0.023  93 336  2 179  368 211 0.979 c 5 829 575 62.5
5 5 0.002 0.009  91 157   862  453 630 0.992 5 461 363 59.9

10 5 0.001 0.007  90 295   589  450 003 0.991 5 007 733 55.5
15 5 0.002 0.012  89 706  1 075  445 843 0.984 4 557 730 50.8
20 5 0.004 0.021  88 631  1 844  438 546 0.975 4 111 888 46.4
25 5 0.006 0.029  86 787  2 475  427 749 0.969 3 673 342 42.3
30 5 0.007 0.034  84 312  2 834  414 478 0.965 3 245 593 38.5
35 5 0.008 0.037  81 479  3 032  399 814 0.961 2 831 116 34.7
40 5 0.008 0.041  78 447  3 253  384 103 0.955 2 431 301 31.0
45 5 0.010 0.049  75 194  3 665  366 809 0.945 2 047 199 27.2
50 5 0.013 0.061  71 529  4 397  346 656 0.928 1 680 390 23.5
55 5 0.017 0.082  67 133  5 531  321 836 0.899 1 333 734 19.9
60 5 0.026 0.122  61 601  7 508  289 237 0.856 1 011 898 16.4
65 5 0.037 0.168  54 093  9 106  247 702 0.802  722 661 13.4
70 5 0.052 0.233  44 988  10 468  198 768 0.717  474 958 10.6
75 5 0.084 0.349  34 520  12 033  142 516 0.590  276 190 8.0
80 5 0.136 0.503  22 487  11 321  84 130 0.439  133 674 5.9
85 5 0.216 0.675  11 165  7 542  36 973 0.289  49 544 4.4
90 5 0.322 0.820  3 624  2 970  10 694 0.166  12 571 3.5
95 5 0.447 0.912   654   597  1 778 0.053 d  1 877 2.9

100 ω 0.580 1.000   57   57   99   99 1.7
Mujeres/Females

0 1 0.061 0.059  100 000  5 868  95 463 0.934 b 6 498 800 65.0
1 4 0.006 0.024  94 132  2 234  371 443 0.979 c 6 403 337 68.0
5 5 0.002 0.010  91 898   878  457 293 0.992 6 031 895 65.6

10 5 0.001 0.006  91 019   503  453 840 0.994 5 574 601 61.2
15 5 0.001 0.007  90 516   652  450 952 0.991 5 120 762 56.6
20 5 0.002 0.010  89 864   914  447 038 0.988 4 669 810 52.0
25 5 0.003 0.013  88 951  1 168  441 835 0.985 4 222 771 47.5
30 5 0.003 0.016  87 783  1 398  435 421 0.983 3 780 936 43.1
35 5 0.004 0.019  86 385  1 638  427 832 0.979 3 345 514 38.7
40 5 0.005 0.023  84 747  1 956  418 848 0.974 2 917 683 34.4
45 5 0.006 0.029  82 792  2 442  407 853 0.965 2 498 835 30.2
50 5 0.008 0.040  80 349  3 216  393 707 0.952 2 090 982 26.0
55 5 0.012 0.057  77 133  4 417  374 624 0.926 1 697 275 22.0
60 5 0.019 0.092  72 716  6 661  346 931 0.889 1 322 650 18.2
65 5 0.028 0.133  66 056  8 767  308 362 0.840  975 720 14.8
70 5 0.042 0.191  57 289  10 957  259 052 0.760  667 358 11.6
75 5 0.071 0.301  46 332  13 955  196 772 0.636  408 306 8.8
80 5 0.118 0.455  32 377  14 720  125 082 0.487  211 535 6.5
85 5 0.186 0.619  17 656  10 927  60 965 0.340  86 453 4.9
90 5 0.277 0.768  6 730  5 170  20 723 0.212  25 488 3.8
95 5 0.387 0.876  1 560  1 366  4 384 0.080 d  4 764 3.1

100 ω 0.510 1.000   194   194   380   380 2.0

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


